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FACTORING

a’ + 2ab + b*> = (a + b)?

Perfect square trinomials ) ) )
a —2ab +b° =(a—->b)

Difference of squares a’—b*>=(a—b)a+b)

PROPERTIES OF EXPONENTS

Product of powers ama" = gm+n

m
Quotient of powers = gm-n

mn

Power of a power (@mM" = a
m
Rational exponent an = am
: h 1
Negative exponent a’'=—
a
LINEAR EQUATIONS
Standard form Ax + By = C
Slope-intercept form y =mx+b
Point-slope form y —y, = mx—x)
. YW
Slope of a line = —x
2 1
QUADRATIC EQUATIONS
Standard form f(x) = ax®> + bx + ¢
Vertex form f(x) = a(x — h)?> + k
. —b+Vb’— 4ac
Quadratic formula X =
2a
. —b
Axis of symmetry X = —
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DIRECTIONS

Read each question carefully. For a multiple-choice question, determine the
best answer to the question from the four answer choices provided. For a
griddable question, determine the best answer to the question. Then fill in the
answer on your answer document.

1 At a restaurant jars of tomato sauce are stored in boxes in the pantry. Each box contains
8 jars of tomato sauce. A cook uses 2 jars from 1 of the boxes.

Which function shows the relationship between y, the total humber of jars of tomato sauce
remaining in the pantry, and x, the number of boxes in the pantry?

A y=8x+6
B y=28x
C y=8x-2
D y=06x

2 Which expression is equivalent to —28x? + 35x?
F 7x(4x+5)
G -7x(4x-5)
H 7x(4x-5)

J —7x(4x + 5)
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3 Which graph best represents a system of equations that has no solution?

y
A A
8 8
7 7
6 6
5 5
4 4
3 3
2 2
A 1 C
8-74-5-4-3-2-1.1 12345567 O ol -8-7-6-5-4-3 3T N1 2 3456 7 s X
-2 -2
-3 -3
-4 -4
-5 -5
-6 -6
-7 -7
-8 -8
A4 i
y y
sl z¥7‘
7 7
6
\i
3\
2
B 1 D

8-76-5-4-3-2-1.[ 12345678

=7
-8

1234567

4 Which statement about the graph of y = 8(0.25)* is true?

F The coordinates of the x-intercept are (0.25, 0).
G The coordinates of the y-intercept are (0, 8).
H The equation of the asymptote is x = 0.

J The graph includes the point (2, 1).
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5 What is the range of y = —x? - 2x + 3?

A x<4
B x>-4
C y<4
D y>-4

1
6 Which expression is equivalent to (144k%r*)> for all positive values of k and r?

F 12kr’
G 72k%rt*
H 144kr’

3 12k%r
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7 The graph shows the height in feet of an object above the ground t seconds after it was
launched from the ground.

Launched Object
h(t)
A

64

48

32

16

Height Above Ground (ft)

Y
~

0 1 2 3 4
Time (s)

Which function is best represented by the graph of this situation?
A h(t) = -16t>- 64t

B h(t) =-16t%+ 128t- 256

C h(t) = -16t% + 64t

D h(t) =-16t>-128t- 256

8 What value of n makes the equation 4(0.5n - 3) = n-0.25(12 - 8n) true?
F 3
G -9
H O

J -15
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9 In a sequence of numbers, a, = 0, a, = 6, as = 12, a, = 18, and a, = 24. Based on this

information, which equation can be used to find the ' term in the sequence, a?
A g =-6n+18

B a =-18n+6

C a =6n-18

D a =18n-6

10 The value of y varies directly with x. If x = 3, then y = 21. What is the value of x when
y = 105?

3
F 5

2
Glg

11 Which expression is equivalent to x* - 17x - 60?
A (x-20)(x+3)
B (x-5)(x-12)
C (x-20)(x-3)

D (x+5)(x-12)
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12 A zookeeper recorded the feeding schedule for a baby rhinoceros for 20 weeks. The table and
scatterplot show the percentage of the baby rhinoceros’s body mass that was used to
determine the amount of food given at each feeding as a linear function of its age in weeks.

Baby Rhinoceros Feeding Schedule

Age (weeks) 1 2 4 7 9 12 | 14 | 15 | 17 | 20

Percentage

of Body Mass 20 |19.5 | 17 15 14 [(13.5 (124 (11.6 | 11 9

N,
>

Body Mass
= = N
o [6,] o
[ ]
o
[ ]
o
[ ]
[ ]

Percentage of
(03]

> X
0O 2 4 6 8 10 12 14 16 18 20
Age (weeks)

What is the best prediction of the percentage of the baby rhinoceros’s body mass that should
be used to determine the amount of food given at each feeding when it is 25 weeks old?

F 8.5%
G 6%
H 2.5%

J 10%

13 What are the domain and range of f(x) = -37?

A Domain: All real numbers greater than or equal to -37
Range: All real numbers

B Domain: {-37}
Range: All real numbers

C Domain: All real numbers
Range: All real numbers greater than or equal to -37

D Domain: All real numbers
Range: {-37}
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14 The graph of quadratic function p is shown on the grid.

<

—
>
>

H N WA U1 N ® O O

If k(x) = x> and p(x) = k(x) + n, what is the value of n?

Record your answer and fill in the bubbles on your answer document.

15 Two customers went to a post office to buy postcards and large envelopes. Each postcard
costs the same amount, and each large envelope costs the same amount.

e The first customer paid $12 for 14 postcards and 5 large envelopes.
e The second customer paid $24.80 for 10 postcards and 15 large envelopes.

What was the cost in dollars of each large envelope?

A $1.42
B $0.35
C $1.15

D $0.63
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16 The water level of a river was measured each day during a two-week period. The graph
models the linear relationship between the water level of the river in feet and the number of
days the water level was measured.

Water Level of River

A
v

28

qEESERERBRERS=:

Water Level (ft)

> x
0 2 4 6 8 10 12 14

Number of Days

Which statement best describes the y-intercept of the graph?

M

The water level increased by 0.25 ft per day.

The maximum water level was 19.5 ft.

I o

The initial water level was 16 ft.

(]

The water level was measured for 14 days.

17 There are 1,024 players in a tennis tournament. In each round, half the players are
eliminated. Which function can be used to find the number of players remaining in the
tournament at the end of x rounds?

A f(x) = 1,024(1.50)
B f(x) = 1,024(0.50)
C f(x) = 1,024(1.05)"

D Ff(x) = 1,024(0.05)
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18 Which statement about g(x) = x? - 576 is true?

m

The zeros, —288 and 288, can be found when 0 = (x + 288)(x — 288).

The only zero, 288, can be found when 0 = (x — 288)°.

I o

The zeros, —24 and 24, can be found when 0 = (x + 24)(x — 24).

The only zero, 24, can be found when 0 = (x — 24)2.

(]

19 Which graph best represents the solution set of —-4x < 6y — 54?

y y
14 L: 14
\
12 ) 12
\
: %
3
8 8l
\
A C N
6 6 \
N
4 4 .
\
2 2 %N
N\
2 2 4 6 8 10 12 \x 2 24 & 8 10 12 14 X
2 2 N
y y
14 14
12 12
S
S0
~
~\
8 SS 8
B o D
6 o 6
Y
N\
4 > 4
~
\\
2 ~. 2
\\
S
2 24 [ 6 | 8 [ 10|12 N\AX 2 2 4 8 10 1z 14 %X
2 2
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1
20 Given f(x) = (4 - x)?, what is the value of f(16)?

Record your answer and fill in the bubbles on your answer document.

21 The graph shows the linear relationship between the maximum area in square feet that can
be painted and the number of gallons of paint used.

Paint Coverage

r g B

1,800
<~ 1,600
1,400
1,200
1,000
800
600
400
200

Area Painted (ft

> X

0 1 2 3 4
Number of Gallons of Paint

Which of these best represents the rate of change of the maximum area painted with respect
to the number of gallons of paint used?

A 200 ft%/gal

1 2
B 300 ft</gal

C 400 ft%/gal

1 2
D 200 ft°/gal
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22 What are the solutions to (x + 7)* = 81?

F -74 and 88
G -2and 16
H -88and 74
J -16and?2

23 What appears to be the domain of the part of the exponential function graphed on the grid?

y
A

30
27
24
21
18
15

12

%

Y
X

A

(@)
ul
w
IN
X
IN
N
N

lw)
g
w
INA
<
IN
N
N
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24 The tables of ordered pairs represent some points on the graphs of lines g and v.

Line g Line v
x | 9| -3 2 x | 4 0 10
y 0 18 | 33 y 10| 8 3

Which system of equations is represented by lines g and v?

F 21x-y=9
5x + 6y =40

G 3x-y=-27

X+ 2y =16
H 21x-y=9
5x + 6y =20

J 9x-y=-27
X+ 2y =8
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25 Which situation does NOT show causation?

A When the student population at a school increases, the number of teachers at the school
increases.

B When the amount of sugar in a quart of apple juice is reduced, there are fewer calories in
each serving.

C When there are more workers on a project, the project is completed in less time.

D When there is more protein in an athlete’s diet, the athlete scores more points in a game.

26 Which function is equivalent to f(x) = —4(x + 7)> - 6?
F f(x) =-4x*>-56x-202
G f(x)=-4x*>+ 14x+43
H f(x) =-4x*>-56x-172

J  f(x) = -4x%+ 190
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27 A paper airplane was thrown from the top of a tall building. The height of the paper airplane
above the ground can be found using the function y = -1.5x + 60, where x is the time in
seconds the airplane has been in the air.

y

65
60
55
50
45
40
35
30
25
20
15
10

5

~65-60-55-50-45-40-35-30-25-20-15-10 -5 |5 10 15 20 25 30 35 40 45 50 55 60 e X
10
-15
20
25
30
35
40
45
50
-55
60
65

How many seconds did it take the paper airplane to reach the ground?

Record your answer and fill in the bubbles on your answer document.
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443
28 Which expression is equivalent to (3_25 for all values of g where the expression is defined?

F q27
1
G ?
H ¢
1
TP

29 Which graph best represents a quadratic function that has only one zero?

y y
10
9
8
7
6
5
4
3
2
A 4 C 1
-10-9 -8 -7 -6 -5 - —3—2-11 1234567389 X -10-9-8-7-6-5-%-3-2-1 12 3 56 7 8 910 X
y y
10
9 9
8
7
6
5 5!
4 4
3 3
2 2
B 1 D 1
—10—9-8—7—6—5—4-3—2-11 123456 78910 X —10—9—8—7—6—5—4—3-2—11 12345678 910 X
-2 -2
-3 -3
-4 -4
-5 -5
-6 -6
-7 -7
-8 -8
-9 -9
-10 -10
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30 What is the solution set for -4x + 10 > 5x + 55?

F x>5

G x>45

31 Which expression is a factor of 21x? + 13x - 20?
A 3x-4
B 7x-5
C 7x+4

D 3x+5
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32 What are the equation and slope of the line shown on the grid?

y
) A

>

N W R U 0 O

A 4
X

‘—9—8—7—6—5—4—3—2—11 123 45 7 8 9

-2
-3
-4
-5
-6
-7
-8

“°y Y

1
F y=26; slopeis-—.

6
G Xx = 6; slope is zero.

H y =6; slopeis 6.

J Xx = 6; slope is undefined.
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33 In the year 1900, the total number of metric tons of copper produced in the world was
495,000. Each year since 1900, the total number of metric tons of copper produced has
increased on average by about 3.25% over the amount produced the previous year.

Which function models the total number of metric tons of copper produced in the year that is
X years since 19007

A c(x) = 495,000(1.0325)*
B c(x) = 495,000(0.9675)*
C c(x) = 495,000x1:032°

D c(x) = 495,000x°-°%7>

34 What is the solution to 34x + 95 = 3(14x + 9)?

Record your answer and fill in the bubbles on your answer document.
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35 The graphs of linear functions f and g are shown on the grid.

< -
-7 -6 -5 -4 -3 - 1 2 3 4 5 6 7

Which function is best represented by the graph of g?
A gx)=f(x)-4

B g(x) = 3 f(x)

C gx)=f(x)-2

D g(x) = 3f(x)
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36 Which expression is equivalent to (h*> + 9h — 1)(-4h + 3)?
F -4h®*-33h°>+31h-3
G 4h®+39h*-23h-3
H -4h>-39h% +23h + 3

J 4h®+33h*-31h+3

37 There are 15 plates in a kitchen cabinet. The diameter of each plate is either 7 inches or
12 inches. The diameter of all 15 plates combined is 140 inches.

Which system of equations can be used to find the number of 7-inch plates, x, and the
number of 12-inch plates, y, that are in the cabinet?

A x+y=140
12x+ 7y =15

B 7x+ 12y =140
7x+ 12y =15

C x+y=15
7x + 12y = 140

D x+y=15
12x + 7y = 140
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38 The graph of quadratic function fis shown on the grid.

mnow koo N

-
2 3 4 5 6 7

Which of these best represents the domain of f?

m

-3<x<?2

All real numbers

I o

y > 5.5

(]

All real numbers less than -3 or greater than 2

39 What is the equation in slope-intercept form of the line that passes through the point (2, -2)

2
and is perpendicular to the line represented by y = T X + 27

5

A y:ix—7
5

B y:§x+7
5

C y:—Ex—3
5

D y:—§X+3
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40 Which graph best represents f(x) = 2(5)*?

y y
A A
80 80
70 70
60 60
50 50
F H
40 40
30 30
20 20
10 1
— X b'¢
(—3 -2 -1 v 1 2 3 4 5 -3 -2 -1 ) 1 2 3 4 5
y
A A
40 40
35 35
30 30
25 25
G J
20 20
15 15
10 10
’ /
( -1 ; 1 2 -1 \ 1 2

41 The area of a rectangular trampoline is 112 ft2. The length of the trampoline is 6 ft greater
than the width of the trampoline. This situation can be represented by the equation
w? +6w-112 = 0.

What is the width of the trampoline in feet?
A 7 ft

B 16 ft

C 8ft

D 14 ft
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42 The table shows the linear relationship between the balance of a student’s savings account
and the number of weeks he has been saving.

Savings Account

Week 0 1 3 6 8 13
Balance 32 39 53 74 88 123
(dollars)

Based on the table, what was the rate of change of the balance of the student’s savings
account in dollars and cents per week?

Record your answer and fill in the bubbles on your answer document.

43 The graph of a linear function is shown on the grid.

N o

=N W AU

‘—9—8—7—6—5—4—3—2—11 1 3456 7 8 9

Which equation is best represented by this graph?
A y+7=-3(x-4)

B y+1=-3(x+2)

C y-4=3(x+7)

D y-2=3(x-1)
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44 Which expression is a factor of 9r? - 4r+ 1?

M

3r-1

r-1

I o

9r-1

(&

There are no real factors.

45 The graph of 2x -5y = 10 is shown on the grid.

<

=
>
>

= N WD U N ® OO

—‘10—9—8—7—6—5—4—3—2—11%5 6 7 8 9 10

Which ordered pair is in the solution set of 2x - 5y > 10?
A (0,5)

B (5,0)

C (-2,5)

D (-5,2)
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46 Scientists are studying a bacteria sample. The function f(x) = 245(1.12)* gives the number of
bacteria in the sample at the end of x days.

Which statement is the best interpretation of one of the values in this function?

The initial number of bacteria is 12.

The initial number of bacteria decreases at a rate of 88% each day.

I @& m

The number of bacteria increases at a rate of 12% each day.

(&

The number of bacteria at the end of one day is 245.

47 The daily cost of hiring a plumber, y, to work x hours on a repair project can be modeled
using a linear function. The plumber charges a fixed cost of $80 plus an additional cost of
$45 per hour. The plumber works a maximum of 8 hours per day.

For one day of work, what is the range of the function for this situation?
A 0<x<8

B 80 <y<440

C 0<x<10

D 45<y <685

2
48 The graph of g(x) = x> was transformed to create the graph of h(x) = — (%j . Which of these
describes the transformation from the graph of g to the graph of A?

F A reflection over the x-axis and a horizontal stretch
G A reflection over the y-axis and a horizontal stretch
H A reflection over the x-axis and a vertical stretch

J A reflection over the y-axis and a vertical stretch
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2

10g°w’  4(q®

49 Which expression is equivalent to 2q 3 ° (q_s) for all values of g and w where the
w w

expression is defined?

32q’
w

B 20g'’w’
Cc 32g'w°

D 20gw

50 A graph of a quadratic function is shown on the grid.

]

< > x
-5 -4 -3 -2 -1 1 2/ 3 4 s
-1
-2

Which coordinates best represent the vertex of the graph?
F (2.4,0)

G (0,-1)

H (-0.4,0)

3 (1,-2)
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51 What is the slope of the line that passes through the points (5,-11) and (-9, 17)?

A -2

52 What is the x-value of the solution to this system of equations?

xX=2y-4

7X + 5y = —66
F -2
19
¢ -7
H -8
62
T

53 Which expression is equivalent to v967?

A 24

B 8/6
C 48

D 4/6
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54 Which line appears to have an x-intercept of -5 and a y-intercept of 3?

y

A
7
6
5

123456 7

=N W AU N
<

‘—7—6—5-4—3—2-1_1 12 3

y

A

7

6

5

4

3

2

G 3 !

> X <t > X
1 23 456 7 —7—6—5—4—3—2—1_1 1 2 4 5 6 7

-2

-3

-4

-5

&

Y

BE SURE YOU HAVE RECORDED ALL OF YOUR ANSWERS
Algebra I ON THE ANSWER DOCUMENT.
Page 35
















7 NN

XY

- ’ 806420




	STAAR® Algebra I Administered May 2018 RELEASED 
	STAAR ALGEBRA I REFERENCE MATERIALS 
	Grid Area
	Grid Area
	ALGEBRA I 
	DIRECTIONS 
	Question 1
	Question 2
	Question 3
	Question 4
	Question 5
	Question 6
	Question 7
	Question 8
	Question 9
	Question 10
	Question 11
	Question 12
	Question 13
	Question 14
	Question 15
	Question 16
	Question 17
	Question 18
	Question 19
	Question 20
	Question 21
	Question 22
	Question 23
	Question 24
	Question 25
	Question 26
	Question 27
	Question 28
	Question 29
	Question 30
	Question 31
	Question 32
	Question 33
	Question 34
	Question 35
	Question 36
	Question 37
	Question 38
	Question 39
	Question 40
	Question 41
	Question 42
	Question 43
	Question 44
	Question 45
	Question 46
	Question 47
	Question 48
	Question 49
	Question 50
	Question 51
	Question 52
	Question 53
	Question 54

	STOP
	STAAR Algebra I May 2018 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage false
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo true
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (Color Management Off)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




